6.2 Practice - Grouping

Factor each completely.

1) 40r* —8r2 —25r+5 2) 352° — 102* — 562 + 16
3) 3n® —2n% - 9n+6 4) 1403 +100% —Tv — 5

5) 15b° + 21b% — 35b — 49 6) 623 — 4822 + 5z — 40

7) 32° 4+ 1522 + 22 + 10 8) 28p° +21p° +20p+ 15
9) 352° — 282 — 20z + 16 10) 7n® 42102 —5n — 15
11) Txy — 49z + 5y — 35 12) 42r° — 4972 418r — 21
13) 322y + 4022+ 12y + 152 14) 15ab — 6a + 5b* — 2b?
15) 16zxy — 56z +2y — 7 16) 3mn — 8m +15n — 40
17) 2zy — 8x2 + Ty* — 28¢%x 18) bmn+2m —25n — 10
19) 40zy + 35z — 8y* — Ty 20) 8zxy+56r —y—7

21) 32uv —20u+24v — 15 22) duv + 14u® +12v + 42u
23) 10zy + 30 + 25z + 12y 24) 24zy + 25y% — 20z — 30y°
25) 3uv + 14u — 6u? — Tv 26) 56ab+ 14 —49a — 16b

27) 16zy — 3z — 622 + 8y



